=4

X

=AML ISEISAlE 20194 3

Mgl - Misolidt 23

H10=

e

| &l 2/ 20194
71
=

2l H AR SXAE MM FEA A

Xl

Atel =

jifd
_..n_
M0

O

2. BFRXAIY - &

Of ot7t= =X &

- X}
o

HSMH

12.

<H

5

1.

17 ~ 2020.

2019.

O 3117[Zk:

ol

TH
o
_..|_
[0

17.

12.

2019.




b

. =8AgASES

2019'3 3ntx'3 MY - M= FH

ST N

Jt. SAT M§AM HE

- NIE ol SMIA

) SR Mo = el M)
a2 = 20194 3x} =4 20194 2xF =4 s
= off AH (A) of| AH2H (B) (A-B)
& A 2,640,940 2,635,350 5,590
A=l 40,485 38,895 1,590

ZAAE =3 40| 1,496,669 1,496,669 -

J|EtE =2 49| 799,523 795,523 4,000

FTHF ¢ 126,046 126,046 -

Melg 6,000 6,000 -
o8z 130,917 130,917
¢ 41,300 41,300 -
2) ER | MEYpr vy (&9 @ A
2 o 20194 3xF £ | 2019 2X} & s
= of| AFRH (A) 0f[ AFH (B) (A-B)
gt Al 2,640,940 2,635,350 5,590
AFSH| 1,378,063 1,366,488 11,575
X A= AH| 44,000 44,000 -
AbH| 1,111,891 1,116,420 A4, 529
oflH|H| 27| E} 106,986 108, 442 A 1,456
Lt ZHOHE Midoa 21
1) "HME MIZNIAr gy R
B 20194 3x} =4 20194 2x} &4 s
= off AFQH (A) of| A+ (B) (A-B)
g A 93,750 93,750 -

AME =Fx¢ 93,640 93,640 -
ol&lx 10 10 -
=2l 100 100 -

2) THME| NS0 oy (9] . Q)
a2 = 20194 3x} =4 20194 2x} =4 S
= 0ff AH(A) 04 AFH (B) (A-B)
et Al 93,750 93,750 -
AFSH| 93,640 93,640 -
o H|H| 2 7| E} 110 110 -
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) coSETY

SEYMHIA MY -

ME ollat SAA

ZAME[A Moy o

(9] ®e)
= 20194 3%} =4 20194 2%} &4 =)
25 O AFOH (A) Of| AOH (B) (A-B)
st A 250,707 312,535 A61,828
A =2l 211,786 273,614 AB1,828
olg& 38,913 38,913 -
Tl 8 8 -
2) SRIEEFUNMHIA MEYInt v (cte @ &)
S 20194 3xF =4 20194 2kt =4 s
= of AFQH (A) of| AH2H (B) (A-B)
st A 250,707 312,535 AB1,828
AR H| 2 480 1,680 800
Abdd]| 187,580 227.339 A 39,759
o || 7| E} 60,647 83,516 A22,869
Ll JINIZISYSZEAIS ME - AlE ol YAIA
1) TINAMESEIEA I MR ey (49 ®H)
= 20194 3x} =4 20194 2x} =4 =Szt
Sl Ol AFOH (A) Ol AFOH (B) (A-B)
g A 360,186 453,930 A93,744
Al =2l 322452 416,196 N93,744
o|lg& 37,720 37,720 -
S 14 14 -
2) AL EIEAIRE MIEYor o (g Q)
oo 20194 3z} =4 20194 2xF =4 S
= of AHQH (A) of| AH2H (B) (A-B)
et A 360,186 453,930 A93,744
AFSH| 43,077 43,077 -
Abdd]| 282,608 374,115 91,507
o H[H| 7| E} 34,501 36,738 NP, 237
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1) 7SO LT RIRIAIR] MIISA Bi%y (ctel @ RS
7 = 20194 3t =& 20194 2%} = =zt
- of AHQH (A) of 214 (B) (A-B)
g Al 1,559,548 1,559,548 -
A 2l 1,343,861 1,343,861 -
oz 155,165 155,165 -
T2l 60,522 60,522 -
2) TYONLILTR|KIAIRY MIESnt s (S : &)
2 = 20194 33X} =4 20194 2x} =4 oAl
= Of| AFH (A) of| AHRH (B) (A-B)
g Al 1,559,548 1,559,548 -
AFSH| 85,415 85,415 -
T AEZ=AH| 3,500 3,500 -
AlHH| 1,243,735 1,243,735 -
oflH |H |27 |E} 226,898 226,898 -
cl. S0HOISYSAAAIR Mel - HIE oM HAIAM
1) ToOHOITIE= QXN |RIAIZ] M Ar B (tte @ )
2 = 20194 3x} =4 20194 2x} =& =7t
- of AHQH (A) of| AHSH (B) (A-B)
g Al 1,185,025 1,185,025 -
Al el 1,183,825 1,183,825 -
o|lg& 100 100 -
o patel 1,100 1,100 -
2) TYONOITNIE G R|MIAIY MEYIp i (o9 @ &
a2 = 20194 3x} =4 20194 2x} &4 S
= 01|M°"(A) of| A (B) (A-B)
& Al 1,185,025 1,185,025 -
AFSH| 75,002 74,266 736
AlHH| 1,108,827 1,109,562 AT35
of{H[H[ [ E} 1,196 1,197 A
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HOUH M - M= olldt SMA

1) FPUHETME| MJOQ o (&9l @ E9)
a2 o 2019 3%} =4 20194 2x} £4 sS4
= of AHH (A) of| A4 (B) (A-B)
g Al 287,095 287,095 -
Al ¢ 23,400 23,400 -
Hxza5¢ 228,396 228,396 -
ol & 34,084 34,084 -
& 1,215 1,215 -
2) FUEHTME] MEQpr o4 (Sh9 © &)
a2 = 20194 3x} =4 20194 2x} 4 a4
= o AHOH (A) of| A4 (B) (A-B)
g Al 287,095 287,095 -
AFFH| 239,437 235,477 3,960
A= M| 9,000 9,000 -
AFH| 10,246 10,246 -
oflH|H| 7| E} 28,412 32,372 A3,960




